000

5.83

2.00

3.00

5

Sl L L S L A B 40T T T T T T T T T T T T T T 10 T L R R
i HH : oy R [ i | |
DA g At f& NOODALO [ )
s e VNV Lo C] 35¢ B [ il
AN . SR r ] [ ]
S Y ] i ] 8- g
®0z><>\;x>©‘ ] 3.0 - | 1
or : b [ ]
E | oot i |
= 1 201 4 r 1
= ] [ 1 L i
0r 7 [ ] L |
1 150 g
J [ ] 4r B
151 ] [ 1 L
4 1.0 7] L 4
o) E N N B S B R B 0. e ] 2l L P R B
0.0 0.2 0.4 0.6 0.8 1.0 0.5 1.0 1.5 2.0 2.5 3.0 5 10 15 20 25
phose ¢y H—K V=K
15.0= ‘ ‘ ‘ ‘ pa
145/ —
O 140 T T TS S oSS oSS ooooooossssses —]
o — 1
o T T I -
BSET W e =
130 ‘ ‘ ‘ ‘ =
40 : : ‘ ‘ o
] = —
o It o e e e A e e e el IR
o i I 1 I I I 1 i i i I i | \ I | i i I f i
:  F i
N |
£ C W H
-4 ‘ ‘ ‘ ‘ -
1.0 : : : : pa
8 os— —
S - =
T os— —
.9 [ .
8 04— —
] C 3
§ 02— —
00 ‘ ‘ ‘ f =
0 100 200 300 400
time [yr]
7907 T T T T T T T ] 4)(1013; T T T \7:
_asf %o 153 1 BXWO”é E
: a0 ] ol 1 T, 3000 K
B [ ° o0 1 . ey
Tl D00 E gL 3.85 Lg
x r I 1 E i Mass 2.00 Mg
-75F oo ;%o 4 10E E \g(C*O> 38.50
-7.0L R R ‘ ‘ ‘ ] ok ‘ ‘ ‘ = C/O 1.69
75T ‘ ‘ ‘ ‘ ‘ ‘ ‘ : oF ‘ ‘ ‘ —
F v g 4 ] : Au,, 6 km/s
2ok I 1 % sk f 2.0
—7.0f ‘ ‘ 1 @ r
[ ‘o 1 € F
- I o i 1 & oh class pp
g b Lo 1 = %
£ 76,5? o , o 7 *5 r
- b oL 1 s -5
~60f L e R 1 No wind
ssb - & - ® ‘ ‘ ‘ ] -5 = Period 390. d = 1.068 yr
SET ‘ ‘ ‘ ‘ ‘ ‘ ] 1o T Radius  318. Rg
E E r 1 logg -0.26
,4; o} ® 2 94 é @ 0.8 N AMbo\ 1.468
I o8 12,92 N N ]
gdi = o 3 5 T 1 Colour mean / min / max / range
= °F o g o E T , B-V) 2.04° 1.91° 224 0.33
> f . ] S 04 b V1) 2.34 1.95 2.79 0.85
E 0 0g E 2 r 4 V—K 525 453 596 1.43
-2F Lo E S 0ok ] J—H 0.91 0.82 099 0.17
E 50" E <t 1 (U-K) 142 126 1.55 0.29
E a0 ] [ ] H-K) 0.51 0.43 0.58 0.15
-1k . g% . . ] 0.0 o : : . =
413 415 448 450 420 430 440 450
time [yr] time [yr]



gas velocity [km/s]

log density [g/cm?]

Note: Time increases downwards. Scales OK for last curve (bottom black)
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